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20159 & 20l& LB H FES
2AM: JES
Y. S AMYEHI
ol FOIS B (crel me)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
J8s 763,475 743,862 19,613
3E8s A& 199,987 197,060 2,927
FOSEHH A 193,291 187,639 5,652
AHH X 88,471 82,319 6,152
201 LEt2 Y| 75,951 71,519 4,432
01 AR 22| I 9,040 8,500 540
Oget=2H| 9,040
— D12 A AOLAY 90,000 * 103 900
-0 TP 10,000& * 43 » 12& 480
—FOUMALADE F2AH| 450,000 = 12& 5,400
- FOXIXAH A28 2
400,000& * 42 D] 1,600
- F0PDAAL EE S5
55,000 * 3 A * 42D 660
02 332494l 9,561 8,169 1,392
OA & &Hl S XY 5,500
-SEAMN Y FOUXNXHEH X224 3,600
- FUNXMEH EAA SX 228 900
—&0Hel HOAIE &X 1,000
O&Z32x SAlLl 1,560
o&aEXE 28 1,801& = 6,500km/9km 1,301
OFAHEYS 2 300,000& = 48 1,200
03 & AtE G 57,350 54,850 2,500
OFUNA2E ZAIE 53,750
—AZIXUA QI 22,2924
25,000& * 3AI2t = 503 * 92 %t 33,750
- Mo, &=3, ZI2e, JIISHX
25,000& * 2AI2t * 50%F * 42 %t 10,000
- OISEH(NIE,OlS0ls, S33729 ., 90F A&
s) 25,000& * 2AI2t x 50F * 42 %t 10,000
OJI0t23=sH #HAF =24l 1,800
OF0IXXIAE SHA =24 1,800
202 (4] 8,200 6,400 1,800
01 2L Y] 8,200 6,400 1,800
OLNHNSSHARZ=X0NbI 6,400
OAZ=EXNSERFE Al 1,800
203 AR E= Yl 1,000 1,000 0
03 Al Z=A SR =AH| 1,000 1,000 0
OANBERADEAY| 1,000
204 A 2 =2 Z H| 1,200 1,200 0
03 SEYRAHI 1,200 1,200 0
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S EEEEEEEEEEEEL
100,000& = 1&¥ = 123 1,200
405 RHoHF S HI 2,120 2,200 A80
01 AL EZFH S 500 1,000 A 500
OOl ®o BHI(EHI )7L 500
02 =M=l 1,620 1,200 420
OFUXXEH TH 2
9,000& = 15& = 123 1,620
FoEs2EH 104,820 105,320 A 500
301 et A=z 103,320 103,320 0
05 8% -0 -tHESEH3 85,280 85,280 0
Os&+g & &3l 85,280
-s¥gstl 200,000& = 269 » 12& 62,400
- SHEoEALY
20,0003 = 26% = 23 = 12& 12,480
- SZH0= 200,000 = 269 « 23| 10,400
09 SALAHIEA S 18,040 18,040 0
OJIOF2at =M HAFHL 243 3,000
OFOTXARE sOaA 2o
20,000& = 21 = 123 5,040
OFURNXIHME MHASAR(RSH, S4AHl)
10,0003 * 4% = 250 10,000
302 OI=LTHoH E & = 1,500 2,000 A 500
02 QIZHRITHOH R EFR &S 2L S 1,500 2,000 A 500
OMoi=2&0A 24 1,500
KSR ITALS 6,696 9,421 A2,725
KNI RIIALS 6,696 9,421 A2,725
101 14l 6,696 9,421 A2,725
04 JI2ZtHZ22 a2+ 6,696 9,421 A2,725
OSYSEJ M II= 22
44,640 = 108 = 53] 2,232
OZASZE3 o2 44,6408 ~ 108 * 53 2,232
OdetE M, T2HME=EY 2
44,6403 * 10H « 53| 2,232
JES A2 FRHAAY 10,000 20,000 A 10,000
L2782 FHAAY 10,000 20,000 210,000
A2 FUHEHAAY 10,000 20,000 210,000
401 Al B2 28I 10,000 20,000 A 10,000
01 A& HI 10,000 20,000 A 10,000
OEZ2E+3 At 10,000
HYR2IZH (S S) 553,488 526,802 26,686
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ol 2| 472,568
ol 2| 472,568
101 2124 d| 455,948
01 2= 428,152
oez 289,069
-53 3,969,900& * 1H 128 47,639
-62 3,300,500& ~ 1A 128 39,606
-73 2,713,400& * 49 128 130,244
-8=2 1,893,300 * 1Y 128 22,720
-92 1,357,200& = 39 x 12& 48,860
o8zs¢ 289,069,000% = 0.8/12 19,272
OAZ2Z224E 26,089
-53 11,5913 « 1 = 25A12F = 128 3,478
-6=2 9,886& * 1H * 25A12t = 12& 2,966
-73 8,930 * 4YH x 25A12F + 128 10,716
-82 8,017& » 1Y x 25A12F = 128 2,406
-93 7.,2473 * 3H x 25A12 + 12& 6,523
O&F2+gorat2 7,440
—-25E 0l & 130,000& = 19 * 12& 1,560
- 20 O] & 110,000& = 29 x 12&€ 2,640
- 10 0l &~153 012 60,000 * 298 = 12& 1,440
- 054 0l &~10 012 50,0008 * 3Y = 128 1,800
OPIE =, 30,000& * 10 % 2.269H = 12& 8,136
OXHEHIEX4E 2,525
=LY
420,790& + 10 * 0.159 * 43 2,525
OolAAR2 4 30,0008 * 2% x 12& 720
OsHs22+Y 70,000& = 9Y x 12& 7,560
OAZEXNERE 70,0008 * 3¥ x 12& 2,520
OAZEX SR Jtat3
30,0008 * 3¥ x 12& 1,080
OOt 600,000& * 24 * 12& 14,400
oI A 130,000& * 10¥ = 12& 15,600
(@)=FSE=)3:] 289,069,000& = 1.2/12 28,907
OHIIE Atbdl 289,069,000 * 86% * 7/30/12 4,834
03 2INHA=ZZ2XHE %= 27,796 26,927 869
OFUSEXMIAZTLHA 21 24H| 27,796
-Ja2 1,382,000& = 128 * 1& 16,584
-2 1,382,000& = 4& 7| 5,528
-2 A= 2,102,670& /209 =8 * 7 564
- HZAH| 130,000& = 1Y * 128 1,560
-Y &S0ty 1,382,000& * 120% 1,659
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204 & 2 =S A H| 16,620 16,620 0
02 238 X4l 16,620 16,620 0
O&ZE x| 16,620
-53 250,000& ~ 1 » 12& 3,000
-63 155,000& = 1Y * 128 1,860
-73 140,000& * 49 = 128 6,720
-82~92 105,000& * 49 * 128 5,040
| 2 &l 80,920 74,920 6,000
JlE23Hl 80,920 74,920 6,000
201 et A | 40,320 39,120 1,200
01 At 22l bl 18,780 18,780 0
Ogst=2H| 13,230
-JIE2ANREEHI 4,050
- J|Et==SHI 4,860
- ROoIAHIAIAE Y ceTV22ldl]
200,000& = 12& 2,400
- XUIRAIAE AMES 60,000& * 12& 720
- & AP gat2tel 24| 100,000& = 12& 1,200
ogx a4 30,000& * 23 = 12& 720
Oor2t & 522X 24| 4,830
02 3824t 21,540 20,340 1,200
03322 % MA 21,540
-2ER2 550,000& = 12& 6,600
—UIAPSAE O s 2ERD
270& * 4,000AI CH 1,080
- EHAEI 22 650,000 = 12& 7,800
- Z2EUHEIIR2 100,000& = 12&€ 1,200
- NBIETAIERS 300,000& = 12& 3,600
-SIMNEREE 2 200,000& * 13| 200
—AEZE NEKLEL= 160,000& * 13 160
-ANsSXHEEE 800
-0IEXNEE= 100
202 04d| 28,800 24,000 4,800
01 2L Y| 28,800 0 28,800
OJl2g2F=&A| 240,000& = 109 * 12& 28,800
203 & R =&t 10,000 10,000 0
01 J| 222G L R=AH| 6,600 6,600 0
OJ|#2ggdF=&a| 6,600
02 RAIIAMYR2FAH| 400 400 0
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